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SIMPLE INTEREST - ASSIGNMENT

How much interest will Rs. 10,000 earn in 9 months at an annual rate of 6
per cent?

ep 10,000-66 oemigng 6% ey aisbd aafed, 9 wrstsepEsTar Sl
QUL 196U  SHITEHTS.

a. 250 b. 350 c. 450 d. 415

Find the simple interest and the amount due on Rs. 6, 750 for 292 days at
10% per annum.

epumul 6,750 @ 292 prsend@ 10% el peisd saflely Srewis

a. 205 b. 305 c. 540 d. 415

At the rate of 12.5% p.a. Simple Interest, a sum of Rs.9600 will earn how
much interest in 3 years and 2 months?

h  9600-@& ouewigmE 12.5% sefleully efsb  aeled, 3 eu@pLBIBET 2
LOTSHMBIBEHESHTE SHENAULIQENU!  HTEWISH.

a. Rs.3800 b. Rs.7600 c. Rs.8400 d. Rs.4800

Mr.X borrowed Rs.5,000 - on 7th of June 2006 and returned it on 19t August
2006. Find the amount he paid, if the interest is calculated at 7% per annum
Am X eeieut 7.6.2006 Sesim X 5,000 sLMHI QUBBI Dews 19.8.2006
OIFB  HHbU  OFSHHemT  oewigBG 7% iHD  eIlly BT LILILLTeD
ST QFHHW CFHTensd 6l6lalee]?

a. 5140 b. %5070 c. < 5210 d. 35280

Mr. X borrowed Rs. 10,000 from a bank at 6% simple interest per annum.
After 3 years, he settled the account. What amount did he pay?

A X el@eT, @b auBIBUNImHHS @b 10000 Hoxd 6 % Helall 9be (SLe[H
QVWISHEG) UTRISTT. 3 WbBHEHHG LIBG, S DIDLSHSHT] 6l6lev,
ol OFHHU CTHHH CFHTeNd 6l6dT60T?

a. 11,500 b. 10,800 c. 10,500 d. 11, 800
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At what rate of simple interest per annum the sum of Rs. 800/ - will become
Rs. 1200 in 10 years?

. 800/- ueWiBdHE ebdman FHais Hefeul lguled, 10 emibseflev ap. 1200/ -
UGLD?

a.5% b.8 % c.10 % d.12 %

What is the rate per cent if the simple interest on a sum of money is %th of

the Principle and the number of years is equal to the rate per cent per
annum?

@ GUUUILL OpTemsular sHeallaulpumarg SiFe 6CgTemnsuled % LG, SLewiH
GTewTeMNHMBUID, SLewiB Ul ly  aigHUpd  FIoD  aelled Wi ally  eiHld

6161161161T6)] 7

a.4% b. 8% c.2% d.16%

The simple interest on Rs.4000 is less than the simple interest on Rs.4500 at
6% by Rs.120. Find out the time?

400053  eupRBILGD  FHll  eulumers, 4500 S5 06 FHels
SlglienLuled 5. 120 et Sjemailled QUPBISIILGAIMSAIL  (GHMBAITGWD. HTEVLD
6T6116161T6) GTRILINSHS HeWIB L HHALD.

a.1year b. 2 years c. 4 years d. 3 years

A sum of money triples itself at 8% per annum over a certain time. Find the
no. of years
R GO L oForard 8% ey aissHHe abpemnen  LeuHE6rlled  LpaTBI
LDL_MBIGBTGLD?

a. 25 years b. 20 years c. 30 years d. 15 years

In how many years will a sum of money double itself at 18.75% per annum
simple interest?

a. 4 years 5 months b. 5 years 4 months

c. 6 years 2 months d. 6 years 5 months

ABLSIBG 18.75% eaaim ool o'l alFHHHed OCHTHBWITRIGH 615 Hm60T
QU(BLMIG6T6D @1 1plITGLD?

a. 4 GUBLMIGET 5 LOTHHIG6I b. 5 eumBLABIBET 4 DIHBIGET

C. 6 QUBLBIHET 2 LOTHHISB6N d. 6 eumLMIEET 5 WOTSHEISHET

If a sum of money at simple interest becomes 4 times of itself in 15 years, it
will become treble in
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R OaTmdmw Hal  auliguied (WPHeSG OFuIHTe0 15 emiBeelled [HI6IE
DL RISTHBH. DB IhHmer ewihHelley, 6% eau'ly aiHHHe0 eyl
LDL_MRIBMGLD?

a. 10 years b. 12 years c. 8 years d. 6 years

A certain sum of money amounts to Rs. 6,800 in 5 years and Rs. 6,080 in 3
years respectively. The principal is

@ &P’ L Gxmems D aumLmisefed . 6,800 isaid wBHID 3 el BiG6Ts0
fh. 6,080 QLBAD (PSHTe] DML HWSI. 616160 (LPSHeUH .

a. Rs. 1,800 b. Rs. 5,000 c. Rs. 3,600 d. Rs. 720

A certain sum of money amounts to Rs.1260 in 2 years and to Rs.1350 in 5
years. The sum and the rate of interest are respectively

R OxTewd S allgliig eh 1260-m 2 aumLHHed em. 1350-; 5
AUBLSHID eI QUL T CBTHHHBSH. DIFeL LOBBID UL LY  ATHLOTEISHI.

a. 1200, 5% b. 1200, 2.5% c. 1000, 5% d. 1000, 2.5%

A sum of money was put at simple interest at a certain of rate of interest for
2 years. Had it been put at 3% higher rate, it would have fetched Rs.300
more. Find the sum.

R OCHTMHBWTRISH 2 DeWBIEhdHEG SOl alslgshdled CauissliLbGHBE.
985 Oztews 3% oFswrar FHolaw gy  aipsHed CFlldaiuLTed 05300
HFHBOTE Al lg Hewl &G 0weailsd CFbsHHIILBID CFHTend 6l6vTenT?

a. 5000 b. 4000 c. 10000 d. 1000

A person borrowed Rs. 2,500 from two money-lenders. For one loan he paid
8% per annum simple interest and for the other he paid 6% per annum
simple interest. If he paid Rs. 180 at total interest for one year, how much
did he borrow at 8%?

QBT ¢H.25008n @renih CuiselLmba SLeTd CUBBIGTENTT. @(h SLIHG
8% oeafl ealiguub, LHBSBEG 6% sSelalpub (UGLTHET 6aly) UGLD.
QTHHHHO T  ouemibobE h.180 eaulpuned O&HTBHBHTL, 8% el lghE
QUTRIBI HLGIT 61611616167

a. 1,000 b. 1,200 c. 1,300 d. 1,500

Mr. Robert invested an amount of Rs.15,000 divided in two different
schemes A and B at the simple interest rate of 13% p.a. and 9% p.a.
respectively. If the total amount of simple interest earned in 2 years be Rs.
3380, what was the amount invested in Scheme B?

Hm. gt em 15,000-n Brewip ursmisemms s A wBmd B eems
Byewih  OeueuiGeaum HiLmisefled (pedpGuw 13% wmmidb 9% ewwim  SHefleul ig
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B He0 (WPHeSH OFUIHBIT. 2 ewiBBEHrdhE OrsHsons q 3380 CQuBmT
aadley, FHL LD B-60 9T (1p5edh QFUIsH CFHTend 6l6ilealene)?

a. Rs. 8500 b. Rs. 8000 c. Rs. 6000 d. Rs. 6500

A sum of Rs.3400 is lent out in two parts in such a way that the interest on
one part at 9% for 5 years is equal to that on another at 8% for 5 years. The
sum lent out at 9% is.

.3,400 @yewip UGHBMTH Il 195G L LIGHBSI. PO b UGHFH 9
alRSHHTLIgeL D  WIBHBEHHGID, BFewiLmaugk UGHH 8 alupdasmiiged D
LM BHEHHGD oL LGS BSI. @rewigeuld HLHSGHD eully @8y  Slenay
aaied 9 alapsaTiged il L COFHTensd 616lalene)?

a. Rs.1700 b. Rs.1600 c. Rs.1800 d. Rs.1900

A person invested in all Rs. 2600 at 4%, 6% and 8% per annum simple
interest. At the end of the year, he got same interest in all the three cases.

The money invested at 4% is

5.2600 cpeI@ UTHEISNTS LIfds, Demeu (pewmGuw 4, 6, LBBID 8§ FHAIHD
ally alFHHH0 @b pwiBHG LIBG Fwworar  SHalallly OCFHTmdemnul SHI
Gouewi(bLb. BTG FHaIPH allly alFHHH0 (WHSB CFUlH OHTeND 6T6ilal6T6,?
a. Rs.800 b. Rs.600 c. Rs.1200 d. Rs.1500

The cost of a dining table is Rs. 8,400. A wants to buy it in 10 installments.
His E.M.I is Rs. 875. Find the rate of interest?

T o ewiey Cuoedsuisdt oL dseleme  @5.8,400. A  @wComsemw 10
LOTHSHHUME B0 QLB  HendISHBTT. SlUTH OTHSH HeUenew! ¢hH.875  slemlev
ALY LD eTedrent?

a.3% b. 5% c. 8% d. 10%

Find the principal on amount ¥11,800 at 6% per annum for 3 years being
simple interest annually.

pSBTeNIBHeled 6% Safa'lp oipd Oworss Gstms I 11,800 elagd
DIFMEVH  HTCWI.

a. ¥8,000 b. ¥9,000 c. 10,000 d. ¥9,500

4 | Page APPOLO STUD.Y CENTRE PH: 044-24339436, 42867555, 9840226187




Key

5 6 10
D A B
15116
D D

5 | Page APPOLO STUD.Y CENTRE PH: 044-24339436, 42867555, 9840226187




